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NMuudhpunnn «2uply» dngnyppulpui kpudonmpub b wwph wewlguwbh hhdnugpud

Nupuptbun Zuwyulwhp buwhwgsh JuqiuliEpuyiut Swhukph hudwduyb yirngejub §anuhg gpufwptinphh Aoy
npudunpnn htwbvejut wywhgmpjul gnudwpbkp) oquuugnpsdut Jwuhl gupdwinughp N UG 224-2023

cPV Duuuunnbuwljh wifwinudp Ginfwl ali {Uhurgnp Mwmmmwm MWMME% m”wﬂ“wwm

Junpdwnpnipinel (LEpunyuy huplykppy* 8,850,000
79951110/2 Npnryntubp (1 dwpn, 3 andhu) Uu Jwpn/widhu 3 400,000 1,200,000
79951110/3 Shbwbnwljwh hunlwlwpgnn (1 dwpn, 3 wlhu) ULU Jwpn/unpu 3 180,000 540,000
79951110/4 Ghnudlibph hurdwlwpgnn (1 dwpg, 1 wdhu) Uu dwpr/wdhu 1 150,000 150,000
79951110/5 Zudwmlupgnn {2 dwpn, 3 uthu) Ul dwpn/udhu 6 200,000 1,200,000
79951110/6 fEdwnnnn nkdhunp (2 Jwpn, 3 unfhu) Ul Jwpn/wlhu 6 200,000 1,200,000
79951110/11 | Zbyymibiwypt pkdhunp (1 dwpn, 3 udhu) Uy dwpn/wihu 3 190,000 570,000
78951110/12  |Lnwughb nhquyjukn (1 twpn, 3 wlhu) Ul Uwpr/undhu 3 190,000 570,000
7995111010  |Zwnopruup (2 Jwpn, 5 op) U dwpn/op 10 60,000 600,000
79951110/7 Unuhthumnpuannp(S dwpr, 3 wuhu) U vwpn/unlfhu 15 110,000 1,650,000
79951110/9  |Lniuwblwphs (1 ywng, 10 p) Ul Jwipg/on 10 39,000 350,000
79951110/8 Oujkpuunnp (2 Jwpn, 10 op) U dwpn/op 20 39,000 780,000

Gpwdomwlwl uinbnduqnpsnipjnibukph

79951110/13  |gnpshpwynpuwl Swnwmipinil Uu huitn 15 186,667 2,200,000
79951110/20 |[Unghwjwlwh gubgkph Juipnud, gnijuigy uu unfhu 100,000 300,000




79951110/22

Zpuppwinmlu

739 UL hwu 4,000 20 320,000
ol110/22  JUqyughp (U3) Uul hwwn 150 300 45,000
/79951110/21  |Pwtkp (20x1 U) Ul — 5 35 000 175,000
79951110/15 | Bppdp wunepuunnud jnipupwiympp 23 nnuyk) UU hwin 5) 598,300 1,996,600
Lntuwdugtght nkulhjuh b Eypwip wwwhnydwd,
ntnuihnhuful, umyuwmupljdwb, Untiunwdiu,
wwunintinwdifwh Swnwnipnihitp ((nuaght
Junwwpdwb Juhwitunl, PUwiht hwlwljupgnn wapg, °r : 200,000 £=00[pa0
fanuunhny, dkuh duwgliwghu hwdwljupg b uypb) 5 op, 1 oﬁm.
79951110/17  |900,0 h.g. Ul
Hnudpne L Ugkdjuth widul yhnwljuh
7995111023 |npunfurnpljmljut putnpnith quih b (dwubulp) U or e E2i000 =000
U. Uykunpwpubh winjuh owbpwh U puginh wqquihi
79951110/14 T T ou op 2 1,200,000 2,400,000
Spuwbuynpnuht dwnuwymeniithlp tpp 6 170,000
79951110/16  |Eplwb-Ywhwdnp-Bplwl, Gplwb-Gnuph-Gplwb (Lhoht) Uu 1,020,000
Uttinh yuquwlkpunud Ynudphmd b Jwhwdnpoud (110
79951110119 [rvhupn, 4 op) uu dwpn/op o i i
79951110118  {Znipwhng Fnudphnud (110 wpr, 2 op) uu dwpn/op 220 12,000 2,640,000
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26,666,600




